Multiplication par 10 (E)

Trouvez chaque produit.

41 X 10 = 78 X 10 =
62 X 10 = 95 x 10 =
15x10= 20 x 10 =
97 X 10 = 91 X 10 =
35x10= 65 %X 10 =
3x10= 99 X 10 =
72 X 10 = 98 X 10 =
40 X 10 = 99 X 10 =
72 x 10 = 62 X 10 =
99 X 10 = 9%x10=
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Multiplication par 10 (E) Solutions

41 x 10 =410

62 X 10 =620

15x10=150

97 x10 =970

35x10=350

3x10=30

72 x10=720

40 x 10 =400

72 x10=720

99 X 10 =990

Trouvez chaque produit.

78 X 10 =780

95 x 10 =950

20 x 10 =200

91 Xx10=910

65 X 10 =650

99 X 10 =990

98 X 10 =980

99 X 10 =990

62 X 10 =620

9x10=90
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